THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

9219

e

93

STEAM IN

154

STEAM OUT

370
KLEINE HORIZONTALE STOOMMACHINE ONTWORPEN EN GEBOUWT DOOR Mhr AROLD E. BENSON / ALGEMENE OVERZICHT | RESOURCE: www.stoompaginanl/../Plans%20for%20small%20Horizont al%205team%20Engine.pdf
TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
SMALL HORIZONTAL STEAM ENGINE DESIGNED AND BUILT BY Mr. 12 BRGHTWELL STREET |PAM DEWAA @)} HBSTE |00
DATE SCALE 4, CAD FILE REV
A3] HAROLD E. BENSON / GENERAL ARRANGEMANT T L e WAl dewasl@xtracony | AYS-2009 | &G s A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.A.M.DE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

aTy. PART NUMBER

HB-01-FRONT END COVER PLATE
HB-02-FRONT END CYLINDER PLATE
HB-03-CYLINDER REAR END
HB-05-CYLINDER

HB-06-BASE

HB-07-CYLINDER HEAD STUFFING BOX
HB-08-STUFFING BOX GLAND COVER
HB-09-STEAM CHEST PORT BLOCK
HB-10-STEAM CHEST SUPPORT BLOCK
HB-11-STEAM CHEST FRONT END
HB-12-STEAM CHEST REAR END
HB-13-STEAM CHEST COVER
HB-14-STEAM CHEST SUPPORT BRACKET
HB-15-VALVE CHEST STUFFING BOX
HB-16-VALVE STUFFING BOX GLAND COVER
HB-17-PISTON ROD STUFFING RING
HB-18-VALVE ROD STUFFING RING
HB-19-CROSSHEAD GUIDE SUPPORT BRACKET
HB-20-CROSSHEAD GUIDE ROD
HB-21-PISTON ROD

HB-22-PISTON

HB-23-CROSSHEAD
HB-24-CROSSHEAD YOKE
HB-25-CRANKSHAFT BEARING
HB-26-CRANKSHAFT
HB-27-CONNECTING ROD
HB-28-VALVE ROD

HB-29-VALVE

HB-30-VALVE ROD GUIDE
HB-31-VALVE ROD END
HB-32-ECCENTRIC ROD AND STRAP
HB-33-ECCENTRIC

HB-34-FLYWHEEL

HB-35-WOODEN BASE STAND
HB-36-PILLAR

HB-37-M16x12 PLUG BOLT
HB-38-INLET AND OUTLET PIPE
HB-M10 NUT

HB-M12x20 HEX BOLT

HB-M14 NUT

HB-M&x15 CYLINDERHEAD SCREW
HB-M&x20-COUNTERSINK SCREW
HB-M&4x30-COUNTERSINK SCREW
HB-M5 NUT

HB-M5x10 HEX BOLT

HB-M5x20 HEX BOLT

HB-M6x10 HEX BOLT

HB-M6x20 HEX BOLT

2 |HB-M6x25 HEX BOLT

11 |HB-M8 NUT

7 |HB-M8x12 HEX BOLT

23 |HB-M8x20 HEX BOLT

=3

KLEINE HORIZONTALE STOOMMACHINE ONTWORPEN EN GEBOUWT DOOR Mhr AROLD E. BENSON / STUKLIJST [RESOURCE: www.stoompaginanl/../Plans%20for%20small%20Horizont al% 205t eam%20Engine.pdf
TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
SMALL HORIZONTAL STEAM ENGINE DESIGNED AND BUILT BY Mr. 12 BRIGHTWELL STREET o [T DE WAL @} HBSTE |01
DATE SCALE 4, CAD FILE REV
A3| HAROLD E. BENSON / BILL OF MATERIALS T L e WAl dewasl@xtracony | AYS-2009 | &G s A

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

9.5i 83 i = | Dho2
1@ . 4? — HO T D8 PRESS FIT ONTO
o O Ol 551, 7182 PART 05
¢ | 1 6. 20 18 6
& — | | D6 BiR
ST R L
cC\>| S ~N A‘\ _ - \D{» e 4L_é
- Al - . B 3 | 18
O - o 0 B |
146 1 D2 + s
RE * O Of| .| | Ol = oif— R~ S
‘ ‘ ol [ & ST = I =E
: B SO 2
\ J i D, 0 RS S
. | | | | 1] — 4
MAT: STEELPLATE 9mm THICK - 5 S L @ \0 | : %
-~ |
LN | L 1
35 35 L~ - — %
8 DS . s = \a
082 ol D|20|  MAT: STEEL
I 120 n D6 MAT: STEELPLATE 1imm THICK | e CECTION A
— 6 12
e R1
T~ ’
o e
\ j i
© |
N N /// *::7 ***** {
121 - N
MAT: STEEL PIPE N T
PRESS FIT PRESS FIT - (08)
30 é>(6HOLESQ>4 — 08
052 14 EQUALLY MAT: BRASS
D 3% 10 i im SPACED ON PCD SCALE 111
22 . 2
+ 09) |
+- i 38 Ml 1l
N 44 ~ - 1 e
[T o{)\ [ \L 77777777 i r——n }77 ! o
i a IR @“Hylr - Q) <?F® ™
o & 2 A T e W I D M £ 1
SIS 3 R 80 | 60
|
. N < e 98 7
% === of: o D18 01 12
A oo | NERNc) REPNER ) s —
F——— 3 L — — — — — — 1 —— ==
SPACED ON PCD T & g @ I iy N Y == *2
C'SINK 2mm DEEP - ~—6 HOLES M4 e T e 7 N Y ﬁfi%‘éé@ )
()28 PCD EQUALLY MAT: BRASS @ ol Lo 1| |
SPACED ON PCD SCALE 11 12.5 v/ | Nk 22 | 22 m
Q
69 65.5
2 7
N i Ny N =
: W ~ p ' AJ
I I N il
Y% 7 % 7
SECTION B-B MAT: STEEL BAR 32x30
KLEINE HORIZONTALE STOOMMACHINE ONTWORPEN EN GEBOUWT DOOR Mhr AROLD E. BENSON / ONDRDELEN |RESOUREE: www.stoompagina.nl/.../Plans%20for7%20small’%s20Horizontal%20Steam?20Engine.pdf
TITLE JDW DRAUGHT'NG SERV'CES jRAAW:']BYDE WAALPROJECT\ON DRAWING NUMBER SHEET
12 BRIGHTWELL STREET AM.
SMALL HORIZONTAL STEAM ENGINE DESIGNED AND BUILT BY Mr. BRI STREET o [ _ ©C] | HBSTE |02
A3 HAROLD E BENSON / PARST A | ISSUED FOR CONSTRUCTION TEL/FAX 0064-09-2988815 AUG-2009 12 or A
. REV DESCRIPTION oAt |E-MAIL:dewaal@xfra.co.nz AS SHOWN

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

767
100 383.5
40 40 225 31
20 25 | 25 130 20 15
ot T T T e T (T
[ 0 o _ _ _ _ o L _ _ _ _ _ o | H
; A4 N\ A\ A\ (\ r) A\ } ]‘
‘ | T T ] Lo |
= i 1 1 D 3 | LN i
|
| 36 | ke [ § OF CYLINDER } A
| T — - - - - - - - - T il
| ‘ ‘ | | ‘
| LN | [ ]
2 | | | ? 31 R 2 ‘
| ] ‘ o - 0! H 1 o e i & ©
3 o o ’ | S 4 S %
3 ALL HOLES (D8 § OF VALVE ROD 3 ! 25
| ) L ) ) ) ) i / " ) ) ) ) | : 70 70
g | v | | 55 55
i | i i 4’70 ‘ Q:\Q
|
| | : < e P2
| ! K &) o _ P o
w - - | I N m
0 : - - - - O - - - - @;q o i QO @S % N/
Ny oo oo oo ... __________ |\ ... __________________________]_ -y __ Lo | _ ’%
3.5 L
265
h,\,u 7777777 I 8 - - - - - - - - - - - - " e ) N I, B T - " T - "1 T 77N
— | H
‘ 735
SCALE 1:3
L6 46.5 135 22 19
- 1
o : 87 :
O - Nel OO
58 2 3
o
[oa)
D6 ALL <
N O e O—— O O —m O
| e - ‘ o ‘
© @ L3 2 | 2 13
125 ‘ DRILL AFTER ASSEMBLY @
185 MAT: ) 30mm BRASS BAR STOCK
T R A 435 4L3.5 % MAT: STEEL PLATE 3mm THICK SCALE 11
Ny b0 A ; il ; P = '
QT -d0r OO Ot MAT: STEEL PLATE 8mm THICK \’ =
N 1 HE L
| . | @ @1% M14 D6 - >
[y
Méx12 DEEP M6x20 DEEP Méx12 DEEP T T ) %/ | N
. Ty 4 e e, OO e I
— — | - I— D+ - —1 -1 + 4+ — | N
o I o U o A E=gsvd o | ‘ |
F- ! 1 1 =Rl 12,5 12,5
55 55 125 45 45 <
845 MAT: STEEL BAR 30x25 MAT: STEEL PLATE 8mm THICK MAT: @ 30mm BRASS BAR STOCK SCALE 1:1
KLEINE HORIZONTALE STOOMMACHINE ONTWORPEN EN GEBOUWT DOOR Mhr AROLD E. BENSON / ONDRDELEN |RESOUREE: www.stoompagina.nl/.../Plans%20for7%20small’%s20Horizontal%20Steam?20Engine.pdf
TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
12 BRIGHTWELL STREET  |J.AM. DE WAAL
SMALL HORIZONTAL STEAM ENGINE DESIGNED AND BUILT BY Mr. B ST ST T | __©3 | HesTE |03
A3 HAROLD E BENSON / PARST A | ISSUED FOR CONSTRUCTION TEL/FAX 0064-09-2988815 AUG-2009 12 or A
. REV DESCRIPTION oAt |E-MAIL:dewaal@xfra.co.nz AS SHOWN

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

190 257
2
= DRILL 25 25 40
i AFTER a o | yor = /@ =
5 ASSEMBLY S — pa—— - - — =1 EI - _© _ _
24! / MAT: SILVER STEEL
~ \} @ S 54 {
m = T L3 ‘
°° > S &= 0
L___P \ 4)5 1
N Vi
- + - ej
AN
2 8 |2 M14 DRILL & C'SINK
N 355,15 MAT: BRASS 25x19mm D5/ AFTER ASSEMBLY
MAT: NYLON or TEFLON | ' - T
SCALE 1:1 o~ T T
6 54 - r@%—‘ ) 83
%‘ DRILL | ! 1 . ~ -/ H H - |
Va} i 1l [e o)
e AFTER N i : zt%
[ A\ ASSEMBLY j‘b/‘ y . a2 20 __ 20 |
N ok [T 85| ————PRESS FIT
SQI | e, T o ‘
\ /“c)" | T e 5 é + G,..—-*I
= | M1k @lﬁ
- PRESS FIT
4.8 |% el o | PR : R o S
= Loy . - I L —
MAT: NYLON or TEFLON @\ ©|©| X [ 11 Y - 0 /MS' ek 1
SCALE 11 ® - ! } ! **}* *}** :J m (=3 [ ON q— N N 2L ]
— | | | AR Mo [ [ ~ , T
26 e S LA || =0} ~ of [1]1
’4—»‘ } Lf-f @ 1 i Il 1 i Il = 7 \ o~ H H
E i e <<-.\/\ MAT: STEEL & BRASS PIN <25 25 M8 \ ) Bl
=~ S - 40 40 z |
‘ / MAT: BRASS |
- - o @] | I. I D5 MAT: STEEL & BRONZE & i
Q 1 oo ! 5 [o 0] o | |
N £ s D6 || Db 270 ‘ o S |
/ 13 2 // i i } } 1T - ~ - i i
H Il Il | |
[ I e -1 T AR\ N b
w MAT: BRASS m% @{%}@ [7777 - K - - 7 7 7777} a \/ \ ‘-"T% M1e i | i
- ] ] SCALE 11 syl = L L_JS1 MAT: BRASS ) 0T
IS @ 1 N BERBENNN S 230 21 2T ]
= !
a9—{. S Ff\,? 0 © 65 27 Mg
Ve 40 MAT: STEEL & BRONZE
Q| o K < 6.5 @1? 2 ‘Qﬁk@’ MAT: ALUMINIUN
V=) ! : ! [T : — N ;1; ‘ ;1; A @ 408 rL( LN 7MSOLDER
L L 1 Syl T B — B B B B 1 0 ST ‘ Fa ~
3 SN ) _— S = * ST
MAT: STEEL ANGLE T o —1 T T
Ofe T 318 3 ;2
18] " TAP M6 "8 1 L HEX24AF
L 12515 i i @B.S5 |~ C'BORE MAT: BRASS & COPPER
95 21 =2 ) ¢ 6mm
M ‘i /?g\ | ‘& NS ?‘E—H I ©
‘ @ < l > = |l ~ 8 ! ‘@
PRESS FIT————T 11 - PRESS FIT Fox - |7 @
\,,?,, a ,,?,, Iy 7’7\ \7 B /,F \L —} @
= o
200 00 ( a 30 o1 PRESS FIT
in| n ‘ 15 = C 10 TN ©
8 S ﬂ L
*'7 o
- - S e
SI S ~ ﬂ VN
S, - - - - IS IS - IS Iy
/ —U mi=, . & ||
DRILL & HOLES () 4mm ON SHAFT AND PIN G . _PRESS FIT o MAT: BRASS 0
TO SECURE CRANK SHAFT AND CRANK PIN
PRESS FIT STEEL PINS IN HOLES ] MAT: SILVER STEEL SHAFT AND Q‘i-/' L
PRESS FIT CRANK PIN, CRANK CHEEKS STEEL | — © e L
= C SECTION C-C MAT: STEEL & BRONZE |- 32 .|
KLEINE HORIZONTALE STOOMMACHINE ONTWORPEN EN GEBOUWT DOOR Mhr AROLD E. BENSON / ONDRDELEN |RESOUREE: www.stoompagina.nl/.../Plans%20for7%20small’%s20Horizontal%20Steam?20Engine.pdf
TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
12 BRIGHTWELL STREET  [J.AM. DE WAAL
SMALL HORIZONTAL STEAM ENGINE DESIGNED AND BUILT BY Mr. PAPAKURA. NEW ZEALAND ©&}| HBSTE |04
A3 HAROLD E BENSON / PARST 7S RSV XSS TEL/FAX 0064-09-2988815 D“EAUG 2009 2 or [TH REVA
. REV DESCRIPTION oAt |E-MAIL:dewaal@xfra.co.nz B AS SHOWN

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



THIS DRAWING REMAINS THE PROPERTY OF JDW DRAUGHTING SERVICES J.AMDE WAAL,12 BRIGHTWELL STREET PAPAKURA 2110 NEW ZEALAND (09)2988815 IF IN DOUBT ASK

b4 : G5 25 0Fy.
,@¢ - 525 5 5 ,~MAKE SEPARATE
Ni M N 7 S dt AND USE Mk SCREW
' S 0 O ™ Lo 2SR TO PUT TOGETHER
3. |12 o m i R |
| 5
DRILL AFTER ASSEMBLY 10 =
40 ]
iRESS FIT MAT: STEEL STRIP 12x3mm & STEEL 23x16mm e & —C'SINK
= 3 R\
Qla -—t+—- i i—— p—
‘ m
28
o
e
&4
11.2]
1.2
(Vg) I
<
L
i1
o
()
O o~ o | Tl
I I o M X } }
6 HOLS () 8mm C'BORE 10mm DEEP 2 OO T
J/ i © |
e ¢ - - - ) - - - © %/ L B
= [
/. (.l
36
MAT: PINE WOOD 16mm THICK u
SCALE 1:5 R
(.l
au
(.l
[
(.l
[
(.l
[
|
L
/J L\
MAT: STEEL
KLEINE HORIZONTALE STOOMMACHINE ONTWORPEN EN GEBOUWT DOOR Mhr AROLD E. BENSON / ONDRDELEN [ RESOURCE: www.stoompagina.nl/../Plans%20for%20small%20Horizontal%20S team%20Engine pdf
TITLE JDW DRAUGHT'NG SERV'CES DRAWN BY PROJECTION DRAWING NUMBER SHEET
12 BRIGHTWELL STREET  |J.AM. DE WAAL
SMALL HORIZONTAL STEAM ENGINE DESIGNED AND BUILT BY Mr. L SROTAEL SR o |47 0 W) @} | HBSTE |05
A3 HAROLD E BENSON / PARST A | ISSUED FOR CONSTRUCTION TEL/FAX 0064-09-2988815 AUG-2009 12 or A
. REV DESCRIPTION oAt |E-MAIL:dewaal@xfra.co.nz AS SHOWN

IF NOT STATED ALL CHAMFERS AND FILLETS 0.25mm DO NOT SCALE OF DRAWING REMOVE ALL BURS AND SHARP EDGES



	00
	Drawing View4
	Drawing View5
	Drawing View6

	01
	Drawing View4

	02
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Section View A-A
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Section View B-B
	Drawing View29

	03
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37

	04
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Section View C-C
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51

	05
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View12


